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- (C)intersecting . ", (D)Noneofthese

MATHS (Science) 8™ Taber Venion
NOTE Attempt all question of Section-A by filling the correspondmg bubble on the MCQ Y.
ANSWER SHEET and return it to- the Supermtendent within given tite, even if you have @
not atiempted any question.- e i o |
Time :20 Mmutes L _ - Marks:15 :
S SECTION—A @
1. The malrix[ 03]'is S '
Y&(Scaw malrix (B)2by3malix  (C) diagonal (D) none of these
2. V=1x V=I=, | "
A1 . (Bﬁ ()i (D)0
3. Logr=3thenx=............, :
(A) 36 | (B) 84 _ (\',)/21 6 - (D} 221
4. a?l-bl=.... ....... ' |
(A) {a-b)? +2ab (B)(atb)(a-b) (C) {a-b)(a-h) (D) none of these
5. Conjugale of 3 — VB = ....cooocornes ‘.
(A) ~3 — 5 (B)~3+ V5 (@6- V5 (D) none of these
6. Factorization of x2 4 5 + 61§ ......cov.v.e., S ‘ -
Mx+2)(x+3) - (B) (x-2)(x+3) < {C) (x+2)x-3) (D) (¢-2)(x=3)
7. Thereare ............ Methods for finding H.C.F |
(A) one !B{two ~(C) three (D) four
8 LCMofazariandad+ 1is.............. : _
(A) a+1 (B) a¥a+ (C) a1 (D) a2+a+l
9. The solution set of 5 — I =-4is, - .
M E3) T T (TR 11
10, The point {1, 2) lies |n _ -
(Mquadrant1 ~ (Bfquadrantil (C) Quadrant III (D) quadrant IV
11. The mid point of AB where A (3, 0) and B (3, 4) Is '
mNEY) (B)3.2) ' ( ) (5.'4) (©)(6.2)
12, How many right angles can be there in a mangle? '
Mf at the most 1 "(B) two - (C)atleast 1 (D) none of thess
13. W}uch of the followmg are th s:des of right angled triangle. -
(4)2,3,4 (Bé 4,5 , (C)4,5,6 (D) 5,6,7
14. If megsure of three angles of a triangle afe known how many triangles can be constructed
Mﬁ:fy onelriangle  (B) two friangles | {C) notriangles - (D} infinite triangle
"15. Perpendicular distance between two fines in the same. The lines are ...............
(A} perpendicular to each other ' \(Bﬂ)aralted to each other
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' ":'-.,T|m8.:2HOUI‘S 40-Mihutes. ST
SR ' S SEGTION-—B S Marks:3z
Y Attempt any Nme of the. following. All carryequai marks e T S

Lo A= [ ) ]ﬂndmverseom

i, Simplify £2-22 ‘3(“;2’

. i Find the quotient of = whare Zy=3-4182p= 4+ Gi ,
v, Simplify with the heIp of logaﬁlhm (0:04) (2.56)

v. .. Simplify: (x+1) (x-2)

vl. Find the volume of X2 + y2 if x+y =8, xy 2

vii. #x=2 + /3, find the values of x + - " L and x2+ ;1;

vill, Factorize x4 + 64

, R |
ix. Simplify = 1+a 24 at + 1tata?  l-ata?

x. Find solutionsetof vV3x +2 +6 =2
- xi.Sum of three consecutivg numbers is 24. Find the numbers.
XI. Find the square root of x5-2x5+3x*-2x3+x2 : '
SECTION—C © - Marks: 21
Note: Attempt any lhree of the follawing questions. All questions carry equal marks,
Q3 Show that the points of A(1,2) B(3,4) C(4,5) and D(2,3) are the vertices of rectangle,

- Q4 Prove that If two opposite sides of quadrilateral are congruent and paraltel it is a paraflelogram.
Q.5 Prove that.any point on the right bisgctor of a line segment is equidistant from its end point,
Q8  Construct AABC when length of two sidesBC = 5,4cm and AB = 3.8cm and m£B=105°;
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